THE TIME MACHINE

QUIZ

Which is right, a, b, or c?
1. Where is the Time Machine held? - In the ......

a. Palace of Green Porcelain b. Great Hall ¢. White Sphinx

2. What does the Time Traveller use to strike the Morlocks? - A/An ......

a. metal bar b. wooden stick c. old sword

3. How does the TT meet Weena? - He saves her from ......

a. the Morlocks b. drowning c. a fire

4. Of what social class are the Morlocks descendants? - ......

a. Aristocracy b. Middle class ¢. Working class

5. Why do the Morlocks flee from the TT in the forest? - He ......

a. has set a forest fire b. yells at them c. is too strong for them

6. What happens to the sun when the TT travels into the far future? - It ......

a. expands b. explodes c. loses energy and dies

7. How does the TT believe Time is related to Space? - It is Space’s ......

a. slower dimension b. fourth dimension c. zero dimension

8. What do the Eloi and the Morlocks eat respectively? - ......

a. Meat and fruit b. Fruit and meat c. Flowers and meat

9. Where does the TT find artefacts from the past? - In the ......

a. Palace of Green Porcelain b. Great Hall ¢. White Sphinx

10. What kind of creatures are the Morlocks? - ......

a. Diurnal b. Zombie-like c. Nocturnal

11. Where does the TT introduce his concept of time travel? - At ......

a. a conference b. his weekly dinner c. a friend’s place

12. What social system does the TT initially believe is in place in 802,7017 - ......

a. Communism b. Capitalism c. Liberalism

13. What animals do the Morlocks look like? - ......

a. Bears b. Apes ¢. Kangaroos
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14.

15.

16.

17.

18.

19.

20.

What scientific principle does the TT’s visit to the future world illustrate? - ......

a. Religious Creationism b. Political Scientology  ¢. Social Darwinism

What social change further stratified the classes in 18- and 19*"-century England? - ......

a. The Industrial Revolution b. The Luddite Revolt ¢. The Marxist Revolution

What does Weena constantly give to the TT? - ......

a. Flowers b. Fruit ¢. Vegetables

Which of the following brushes the Time Traveller with its antennae? - A ......

a. giant crab b. huge white butterfly  c. black thing

Why does the Time Traveller remove the levers from his machine? - To ......

a. turn it off b. use them as weapons c. prevent the use of it

What does the Time Traveller bring back from the future? - ......

a. Weena b. Two flowers c. A big fruit

What is the narrator’s position in relation to the Time Traveller? - The narrator ......

a. is the Time Traveller himself b. believes the TT c. doesn't believe the TT
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